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Multiply the expressions. Simplify your answer.

4x%y7 , 16x?
1x’y7 2x° Reduce the fractions first
2x%y’ Multiply straight across

Reduce the fraction, cancel variables
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Multiply the expressions. Simplify your answer.

x2+6x-7 , x2-2x-24
x2 - 36 2x2 + 8x - 42
Factor each polynomial:
AC Method Special AC Method GCF, AC Method
x?+6x-7 x? - 36 x? - 2x - 24 2x° + 8x - 42

(x+7)(x-1) (x - 6)(x +6) (x - 6)(x +4) 2(x+7)(x - 3)
Put them back into fractions and cancel.

BDx-D) . R=aYx+4) = [ x-Dlx+4)
) + 6) 2B - 3) 2(x + 6)(
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Divide the expressions. Simplify your answer.

x4-3x2-4 . x3-3x2+x-3
2x?+x-10 ° x-2

For division, you flip the second fraction, and change to multiply

x'-3x’-4 x-2
2x? + x - 10 x*-3x?+x-3

Factor each polynomial:

AC, Special AC Method Can't Grouping
xi-3x2- 4 2x2+ x - 10 x-2 (7 - 3x7) + (x - 3)
(x2 - 4)(x2 + 1) (2x +5)(x - 2) x-2 X¥(x - 3) + 1(x - 3)
(x-2)(x +2)(x? + 1) (x2+ 1)(x - 3)

Put the fractions back together and cancel.

= e 2, x-2 -
(@x+ 5 Tel(x-3) ~





